Class:9th
Test:Chemistry

Attempt ......... questions

1 SIunit of pressure is:

aN’m b. Nm~ aN'm
c.N'm’ d.Nm ¢.N'm’

2 Density of water is:
a.1.00 gem b.1.08 gem | a. 1.00 gem
c.0.108 gecm d.0.001 gem”’ c.0.108 gem’

3 Inevaporation process, liquid molecules which
leaves the surface of liquid have

a.Very low energy ~ b. Moderate energy

a.5./ [ e
c. Very high energy d. None of these c. SoAlol st
4 Example of liquid in liquid

b. Air a. QLU 229
d. Atom C. /T

a. Water in milk
c. Fire

> Milk of magnesia is an example of:

a. Solution b. True solution a. u:)l”

c. Colloid d. Suspension c. X4
6 Which thing is soluble in carbon tetrachloride?

a. Greese b. Alcohol B, u:‘,f

c. Sugar d. NaCl Ky

7 The valency of iron in Fe,(SO,), is:

a. l .2 a. 1
c.3 d.4 c.3
8 The oxidation number ofhy@drogen in metal
hydrides is:
a. +1 b.-1 a. +1
c.0 d.-2 .
? Least reactive noble metal is:
a.K b. Na a. K
c. Al d. Ag c. Al
' Which meal easily break?
a. Sodium b. Aluminium a. @ 4y
c. Selenium d. Magnesium C. A

© 2022 A product of "ParagonSoft" Gujranwala,Pakistan

i

RN LY
b.Nm~ )
d. Nm

-‘45“’." M&g ’
b.1.08 gem
d.0.001 gem”

EAAURFIENE PV

P P19 (0]
b. &)!d&f‘/}

d. uﬁléfcuﬁw
Py

b. /%

k4

Q-‘ .

Q‘L/“,gdpu':ffbygi/?u‘/{jpgf °

b. S
d.jjlug(:ﬁr

-‘au;}z}&j/uf'l’uﬁFez(SO)} !

d.4

e b A PITOR i e v S 8

. =1

il =2
O‘gﬂJ}’;gd/[Lw’ ?

b. Na

d. Ag

_LL&U&;LL;VTJ%U/}( 10
b. (o 2k

3

d./~"






